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Exercise-9c) 
Fin the umbert which ate dtvisible by4 

/TY he Sun o tte diant ae divisible by -7 

i) 1332 Sum of he nmbert is 

Sotthe digit is divisible bu 9 
| D) S32y7 - Sum of he numbert is 

Sthe digit is not divisible bya 

4a68 Sum o4 he numbert is 2 

So he digit is divisible by 

) 2ooBIH - Sunm of he nmber s lo. 

So the diait isnddivisisle by 9 

a7 Find the unmbens onich i divisiu le by 5 

CA he nit diqreithert O ort S 1 s divisible 

5089: The asraaes unitd igt is cD 

So is divisible by 5. 



i)CGGtG: The tun} diq* 
So, it idivici ble b 5 

55 he unit digi+ is S 
So,itis divisible b 

q207: The uni+ diqitis 
So, it is not divisible by5. 
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